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To water his triangular garden, Alex needs to place a sprinkler
equidistant from each vertex.

Where should Alex place the sprinkler?
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Angle Bisector Theorems

Fill in the blanks.
Angle Bisector Theorem

If a point is on the bisector of an angle, then it is
from the sides of the angle.

Converse of the Angle Bisector Theorem

If a point in the interior of an angle is equidistant from
the sides of the angle, then it is on the of
the angle.
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Use angle bisectors to find the measure of the given line or angle in
each figure.

R X




image10.png
Incenter Theorem

Fill in the blanks.

Words:  The angle bisectors of a triangle intersect at a point
called the that is equidistant from each

of the triangle.

Example: |f P is the circumcenter of AABC,

then = =
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Show how to find the measure of the given line if S is the incenter of AMNP.

a. SU

b. mZSPU
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Show how to find the given line if P is the incenter of AXYZ.

A. PK

B. mZLZP
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Check Your Understanding

Find each measure.

a. XW b. m£WYZ
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Vocabulary

perpendicular bisector n. ina
triangle, a line segment, or ray that
passes through the midpoint of a
side and is perpendicular to that
side

concurrent lines n. three or
more lines that intersect at a
common point

point of concurrency n. the
point of intersection of concurrent
lines

circumcenter n. the point of
concurrency of the perpendicular
bisectors of a triangle

incenter n. the point of
concurrency of the angle bisectors
of a triangle
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Perpendicular Bisector Theorems

Fill in the blanks.
Perpendicular Bisector Theorem
If a point is on the perpendicular bisector of

a segment, then it is from the
endpoints of the segment.

Converse of the Perpendicular
Bisector Theorem

If a point is | from the
endpoints of a segment, then it is on the
perpendicular bisector of the segment.





image3.png
Use angle bisectors to find the measure of the given line in each figure.
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Use angle bisectors to find the measure of the given line in each figure.

A.If WX =253,YZ =224,and WZ = 25.3,find XY.

X

B. If m is the perpendicular bisector of XZ,and WZ = 14.9,
find WX. W, Y
C.If m is perpendicular bisector of XZ, WX = 4a - 15,and z

WZ =a+ |2,find WX.
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Circumcenter Theorem

Fill in the blanks.

Words:

The perpendicular bisectors of a triangle intersect at a
point called the that is equidistant from the

of the triangle.

Example: |f s the circumcenter of AABC,

then = = E
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Can a fountain be placed at the circumcenter and still be inside the garden?
Write the answer to this problem and the explanation.




